
Scientific Notation (C)Convert each number from scientific notation to an ordinary number.
9 × 10⁻⁷ = 7.38 × 10⁻⁴ =

4.85 × 10⁻⁶ = 2.362 × 10⁻⁵ =
6.29 × 10⁻³ = 2.22 × 10⁻⁷ =

6.923 × 10⁻⁷ = 7.15 × 10⁻⁵ =
3.83 × 10⁻⁶ = 6.07 × 10⁻⁸ =
7.51 × 10⁻⁸ = 3.81 × 10⁻⁵ =
8.9 × 10⁻⁵ = 5.29 × 10⁻⁷ =

3.601 × 10⁻⁶ = 9 × 10⁻⁸ =
7.1 × 10⁻⁵ = 6.4 × 10⁻⁶ =

4.033 × 10⁻³ = 2.463 × 10⁻⁵ =
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Scientific Notation (C) AnswersConvert each number from scientific notation to an ordinary number.
9 × 10⁻⁷ = 0.0000009 7.38 × 10⁻⁴ = 0.000738

4.85 × 10⁻⁶ = 0.00000485 2.362 × 10⁻⁵ = 0.00002362
6.29 × 10⁻³ = 0.00629 2.22 × 10⁻⁷ = 0.000000222

6.923 × 10⁻⁷ = 0.0000006923 7.15 × 10⁻⁵ = 0.0000715
3.83 × 10⁻⁶ = 0.00000383 6.07 × 10⁻⁸ = 0.0000000607
7.51 × 10⁻⁸ = 0.0000000751 3.81 × 10⁻⁵ = 0.0000381
8.9 × 10⁻⁵ = 0.000089 5.29 × 10⁻⁷ = 0.000000529

3.601 × 10⁻⁶ = 0.000003601 9 × 10⁻⁸ = 0.00000009
7.1 × 10⁻⁵ = 0.000071 6.4 × 10⁻⁶ = 0.0000064

4.033 × 10⁻³ = 0.004033 2.463 × 10⁻⁵ = 0.00002463
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